7 March 2022 Phys 132 Spring 2022

Question 1

Consider the following circuit, where Consider the current through resistor 3 when
R = Ry = Rs. the switch is open versus when it is closed.
k 1. Tciosed = %Iopen
2. Tdosed = Iopen
AV = R, R- Rs

— 3
3. Iclosed — 3 Iopen
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Question 2

Consider the following circuit, where Which of the following is true of
Ri = Ry, =108, R3 = 20 Q2. the equivalent resistance of the entire
combination?

1. Req = 40

AV 2. 209 < Req < 40

1
"
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&

3. 109 < Reqg < 2092

4. Reg =100

5. Req < 100
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Question 3

Several identical bulbs are connected in a Which of the following statements about the
circuit as illustrated. powers produced by bulbs B versus D are
true (choose one)?
(BE)A
1. Pp =4Pp
()B
~ G B 2. Pp = 2Ppg
e 3. Pp = Pp
1
Assume that the bulbs obey Ohm'’s law.
5. Pp = — Pp
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